N = 0l & At & Ml A

20148 = 1 8 LA A

2N gole
g gy g8 A3
ol LB ER EERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
g0l 2,223,369 2,056,869 166,500
Ay A& 25 496,570 460,070 36,500
et H = 496,570 460,070 36,500
(HA)FUXXME 29X 68,600 66,600 2,000
201 LEt2A | 50,600 48,600 2,000
03 #A2EHI 2,000 0 2,000
OFLUXNXNEZOHY LHS 2 HAS =H S
2,000,000& = 1A 2,000 0 2,000
(B8 sa33¥el 21,745 19,745 2,000
201 et 14,537 12,537 2,000
02 2324l 13,537 11,537 2,000
OFAXE R 12,577,000& 12,577 10,577 2,000
(B)HHFAR =T 116,607 92,607 24,000
201 LEr2A | 113,997 91,997 22,000
02 =24l 107,397 85,397 22,000
OJlzs dJIe= 102,323,000& 102,323 80,323 22,000
405 TtobH S| 2,610 610 2,000
01 AL EZFH S 2,610 610 2,000
O==golZgelfI ¢ 2,000,000& 2,000 0 2,000
(HA)FAM2g922 99,607 91,107 8,500
401 AIEHI L 2CHYI 63,700 55,200 8,500
01 A& HI 63,700 55,200 8,500
OH0lH A=Y A2 28 & & sS4 Y=
= 6,000 0 6,000
OFEA =8 OtAZ2 TNLRI| A 2,500 0 2,500
Ao 628,273 498,273 130,000
XSO0 A 628,273 498,273 130,000
(FR)AARFUSAAY 507,720 377,720 130,000
401 Al BIZ 201 8] 507,720 377,720 130,000
01 A& HI 507,000 377,000 130,000
OJtxt2el otSetd ZH I A 20,000,000 20,000 0 20,000
OZScl s2TETIAM 30,000,000 30,000 0 30,000
O el s S EHZA 20,000,000& 20,000 0 20,000
OLE3el X X ZA 10,000, 000& 10,000 0 10,000
=322 d2E AH SHEXN E SS*=E
=l 30,000,000& 30,000 0 30,000
OJtxt1el 29 22 3AL 20,000,000 20,000 0 20,000




> A
A & 0l & AF 2 E A A
20149 = =& 1 3 LB FAl
SN HEo
PR IN DN R= S
ol LB EERED
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-E" Hl DS 2
HEH 1,911,280 1,762,580 148,700
AX A 456,436 419,036 37,400
et H = 456,436 419,036 37,400
(HA)FUXXME 29X 44,804 42,804 2,000
201 Let24dy] 44,804 42,804 2,000
03 #A2EHI 2,000 0 2,000
OFCUXNXNEZZIHY YH3 L HAl &EH S
2,000,000& * 14! 2,000 0 2,000
(B8 s F 125,089 121,089 4,000
201 et 17,447 13,447 4,000
02 2324l 16,799 12,799 4,000
OFAXE A 15,859,000& * 10K 15,859 11,859 4,000
(HA)2SANEE 22 30,712 25,712 5,000
201 Let249] 10,868 5,868 5,000
02 =24l 8,843 3,843 5,000
OXsZd 2334 dIJIe=E  2,728,000& 2,728 1,728 1,000
OXNHLMRAX S==AE IS
1,324,000& 1,324 324 1,000
OLtse MIRSB 1,216,000 1,216 216 1,000
OFsZd & & AL KX
3,575,000& 3,575 1,575 2,000
(Ho)Hay d2F4 105,926 82,526 23,400
201 et 103,226 79,826 23,400
02 2324l 96,071 72,671 23,400
otzs % Wstlss dIIe=s
7,500,000& = 12& 90,000 66,600 23,400
(Fa)am2z e 39,625 36,625 3,000
201 L4l 21,895 18,895 3,000
02 =224l 21,895 18,895 3,000
OHHEA HASU3 12,330 9,330 3,000
o&IIe3 11,262,000& 11,262 8,262 3,000
RSl B 495,954 385,954 110,000
KIS0 &AL 495,954 385,954 110,000
(HA)ARE FUSAAY 374,878 264,878 110,000
401 AIEHI L 20 374,878 264,878 110,000
01 A& Hl 374,500 264,500 110,000
SE3c| 0S2+2 Ul 3 AH(L=350m)
20,000,000& 20,000 0 20,000




SN BHE

S
A NEHY

Sl NGHL A (&)
SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2

OR=2c Z2E SSANE EXSA
10,000,000& = 14l 10,000 0 10,000

O=g2c Z2E SSANE EXSA
10,000,000& = 14l 10,000 0 10,000

O, =&l FRUEAAE &I ZA
20,000,000& = 14l 20,000 0 20,000

OHds1el or2et2 & Hl =S AHL=300m)
30,000,000& 30,000 0 30,000

OS2l EX & 2SAME EXSAM
20,000,000& = 14l 20,000 0 20,000
HY2IZH(BEH) 958,890 957,590 1,300
Jl= &3l 96,367 95,067 1,300
(H2&)J22dy| 96,367 95,067 1,300
405 XtatE SHI 9,296 7,996 1,300
01 AL ESFH S 9,296 7,996 1,300
OASRA EII+ 1,300 0 1,300
oz 600,000& = 1H 600 0 600
O2ol &t 500,000& * 1JH 500 0 500
O0IsSAME 200,000& * 1H 200 0 200




= A
N = 0 &8 AFH Y & A AN
20148 &= =& 1 g L3I A M A
SN MRS
A T B BA(AMEIS)

o4 orst2 02X 4 (e &)
2 A .2 () - HEMNY - BHES 0] AFoH Iy H HnE2
AEE 599,740 594,240 5,500
FOI4o B SA(AEIS) 139,760 134,260 5,500

OtECI2 Mt2x4 139,760 134,260 5,500
(B=)EMEH M 7,328 5,828 1,500
401 AlEHIZ =20 1,500 0 1,500

01 Al&H| 1,500 0 1,500
O==EJ| &1 1,500,000 1,500 0 1,500
(H=)Z0XXINEH 29 33,144 29,144 4,000
201 LBt 28,400 26,400 2,000
03 B A2 G H 2,000 0 2,000
OFoUNXZZ )& HHF L MAIF =4
2,000,000 * 13l 2,000 0 2,000
301 Yt A 4,744 2,744 2,000
09 BALAHI B A2 4,744 2,744 2,000
OFUXNXHEHEZYE #HAIAH 242
4,744,000 4,744 2,744 2,000




N = 0l & At & Ml A

20148 = 1 8 LA A

SN AE2S

Haj: FoIo &0 B A (AH2S)

&l a%C}-E-ED—PEEE; (&)
SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
ALE2S 632,646 625,646 7,000
=019 4o & Ea(AH2S) 169,403 162,403 7,000

OrgCi2 Otsx4d 169,403 162,403 7,000
(E=)=0 43 12 109,974 106,974 3,000
206 M= 4l 1,840 1,340 500

01 M= dl 1,840 1,340 500
ORQUUALZI A5 1,340 840 500
O=s Ao 2 Xl 50,000 » 1022 500 0 500
405 XtatE =H| 5,750 3,250 2,500
01 AL ESH SH 5,750 3,250 2,500
Oz=zl28 ZOIAMEX 250,000& * 10CH 2,500 0 2,500
(EF)=0UXXHH 22 34,616 30,616 4,000
201 L Er2A | 29,168 27,168 2,000
03 AH2 S HI 2,000 0 2,000
OFQNXE2 Y LH3 & MAE =]
2,000,000& = 12l 2,000 0 2,000
301 et a3z 5,248 3,248 2,000
09 BAMEHIEAS 5,248 3,248 2,000

o o
1
o
> T
g
=
o
Ao
02
02

AtAHI a3

5,248,000& 5,248 3,248 2,000




N = 0l & At & Ml A

20148 = 1 8 LA A

M ANES
HIM: =049 & SHAH(AES)

eel: OISU2 0ISXH (&)
SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
ALE S 729,397 720,397 9,000
=04 o B A (AES) 203,838 194,838 9,000
OrgCi2 Otsx4d 203,838 194,838 9,000
HF)FUNKEH 2 44,560 39,560 5,000
201 LEt2A | 34,948 32,948 2,000
03 #A2EHI 2,000 0 2,000
OFLUXNXNEZ0HY £HS & MAS FHI
2,000,000 2,000 0 2,000
301 et a3z 5,032 3,032 2,000
09 &AL HIZB &S 5,032 3,032 2,000
OFQUTXHEHES Y HMAEBIELS
5,032,000& 5,032 3,032 2,000
401 AIEHI L 2 CHYI 0 2,000 A 2,000
01 A€ HI 0 2,000 A 2,000
=l B8 &2019d &0 AX 0& 0 2,000 A2,000
405 KHabH S| 4,580 1,580 3,000
01 AL ESFH S 4,580 1,580 3,000
O=QXXHH A 7
3,000,000& = 104 3,000 0 3,000
(E:)8 M2 23,588 19,588 4,000
401 AIEHIZL 2 CHEI 15,150 11,150 4,000
01 A& HI 15,150 11,150 4,000

OS=UAH(FUINNZZIHA) 24CI00IH
WA ==cl 4,000,000 4,000 0 4,000
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= A
N = 0 &8 AFH Y & A AN
20148 &= =& 1 g L3I A M A
S S
A FOIHO B BA(MLS)
chel: olE0e s xd (B2l &)
2 A .2 () - HEMNY - BHES 0] AFoH Iy H HnE2
IS = 820,979 812,379 8,600
Folao B SA(MYS) 246,717 238,117 8,600
OtECI2 Mt2x4 246,717 238,117 8,600
(HF:)EM &3 WA 26,446 23,946 2,500
401 AlEHIZ =20 2,500 0 2,500
01 Al&H| 2,500 0 2,500
oOZUET HH 2,000,000 * 14l 2,000 0 2,000
OZ=XZ SHHEX T M= 500,000 * 14l 500 0 500
(BF)=oMs x| 164,295 163,695 600
405 KH&HE S| 2,375 1,775 600
01 IHAHY 2 E F SH 2,375 1,775 600
oNMzEZE 200,0009 * 30K 600 0 600
HZ)ZQINXNH 29 55,976 50,476 5,500
201 LBt 43,500 41,500 2,000
03 A2 G H 2,000 0 2,000
OFUXNXNZZ N LHF L MAF
2,000,000 * 13 2,000 0 2,000
301 Yt A2 5,176 3,176 2,000
09 BHAIAHI B A2 5,176 3,176 2,000
OFUNXHEHEZYE dAIAHI 242
5,176,000 5,176 3,176 2,000
405 KHabE S| 7,300 5,800 1,500
01 IHAY 2 E F SH 7,300 5,800 1,500
OFUXNXNEZZNHE &2 Us 3|
3,000,000& * 1CH 3,000 1,500 1,500




= o
N & o & AF & H Al A
201449 = 1 3 Letal A A
FA 2ES
H: HH2IAH(2EES)

& 123l (chel & 9l)
£ Y- HA(S) - NRMY - BES Ofl & oH I & Hns2Z
TES 897,840 885,250 12,590
HERIEU(2ES) 634,157 633, 167 990

Jl=234l 88,178 87,188 990
(Hz)JI2Zdl 88,178 87,188 990

201 Let24dy] 53,398 52,408 990
01 At 2teltl 15,041 14,051 990
OSZEA W U = M
990,000& * 14l 990 0 990
F040 A SM(EES) 263,683 252,083 11,600
orsti2 otex=4d 263,683 252,083 11,600
(EF)F0 M8 X2 197,841 190,741 7,100
206 M= Hl 14,373 7,273 7,100
01 = tl 14,373 7,273 7,100
ORooIALZI 3,055 1,680 1,375
O&EH 2,035,000& 2,035 660 1,375
OsSgALSI 285 8,583 2,858 5,725
OZHEUH(444) 7,725,000& 7,725 2,000 5,725
(H=)=F0XXMH 29 57,160 52,660 4,500
201 Let249] 51,768 49,268 2,500
01 At 22l 49,768 49,268 500
OFLURNINZZ2OYH &= ME HAIE M=
500,000 500 0 500
03 A2 Z Hl 2,000 0 2,000
OFQUXNXNEZ=ZIY 2H3 L MAE Z4
2,000,000& * 12/ 2,000 0 2,000
301 et a3 5,392 3,392 2,000
09 SALEHIE &S 5,392 3,392 2,000
OFQUXNKNMH2E HAAHEBAZ
5,392,000 5,392 3,392 2,000
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6,400
6,400

6,400
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400
400
400
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734,273

208,773

208,773
137,994
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44,050
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g Al A
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=
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740,673
215,173
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138,394
400
400
400
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63,026
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2,000
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405 Xtk
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K
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400,000& * 104
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D
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2,000,000& = 1

o
<0
H

1J
oll

2,000
2,000
2,000
2,000
2,000

3,536
3,536
11,753
5,115
5,115

5,536
5,536
13,753
7,115
7,115
2,000

=
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=

=Y
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5,536,000

2,000,000& * 1

401 AIEHIZ 2 I
01 A& HI




N = 0l & At & Ml A

201485 =Y 13 s FA
SN 2328
HE: Foigo B SN (+328)
cHel: OISCHR 02X 4 CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
=223 859,818 854,818 5,000
=0I4o & ga(x=3228) 183,014 178,014 5,000
OrgCi2 Otsx4d 183,014 178,014 5,000
(E=)=0 43 12 109,776 108,776 1,000
206 M= 4l 10,360 9,360 1,000
01 M= dl 10,360 9,360 1,000
OO0t st Ot2 JtRI| ALY 1,000,000& 1,000 0 1,000
(2F)ZFUXNXHH 22 47,324 43,324 4,000
201 ¢er24| 41,500 39,500 2,000
03 AHZ ZHl 2,000 0 2,000
OFUNXZ202 2E3 L HAF FH
2,000,000& = 12l 2,000 0 2,000
301 gt 4= 5,824 3,824 2,000
09 AL HIZE A= 5,824 3,824 2,000
OFURIMESY AL L4

5,824,000& 5,824 3,824 2,000




—— O-I
N & 0l &t A AN A
=3 1 3 LetgH A
T
ool B SN (HENNEY
OlECte Olsx 4 )
HE . O (BH) - NEAY - HAS Ol &F o I = o 2
ESE 1,266,515 1,259,043 7,472
QI&0 & SIA(HINA=ES) 336,359 329,887 6,472
e otsx4d 336,359 329,887 6,472
HFE)FOME X 269,039 266,567 2,472
206 M = dl 14,410 11,938 2,472
01 X2 4| 14,410 11,938 2,472
oRoloALIZ) A2 E 4,290 2,178 2,112
O=Z Aol 2 Xl 66,0008 = 188FA 1,188 792 396
O&EYy 330,000& = 7H 2,310 990 1,320
OHAEYN 132,000 * 64 792 396 396
OZ28tX BE2=XE =4 360 0 360
OB XE XHEEE 45,000 * 8JH 360 0 360
HE)VZF0RNXNMEH 29 52,252 48,252 4,000
201 gEt24y| 43,776 41,776 2,000
03 Al H H| 2,000 0 2,000
OF0XXEZ M LHEF L MAIS =H|
2,000,000& = 13| 2,000 0 2,000
301 Lt A= 5,176 3,176 2,000
09 SHAIAHI EAZ 5,176 3,176 2,000
OFUXNXNHEHSY #AIAHEAN=
5,176,000& 5,176 3,176 2,000
S AAY| (H3a=asE) 930, 156 929, 156 1,000
Al 107,008 106,008 1,000
HZ))|=2A| 107,008 106,008 1,000
405 XHo&HF S HI 1,000 0 1,000
01 XAt = EF S HI 1,000 0 1,000
O M DI 500,000& 500 0 500
Ot Ml HWED 500,000 500 0 500




